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00000,0(L3)00 (140000000000,

O@3)000 EMBM (14000 EXB*000OO

Maxwell D00 (L1) 000000000
E(r)=E"+ EM
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0000000000000 00,0000000000000000OO (D0O).
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E:iz (L x b)Y}, =0 (I1.11b)
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000000000 F(r)0000,LF(r)=00000.
00000 (1900
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V- €=0 (1.34a)
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+k 7 (I.34b)

0(.32)0 &, BOO0OOODOOOO

Gﬁ+ﬁﬁ:—k¢_(WVXVXJ+VXM> (.35a)

V- E=0 (1.35b)

fo2 0( 'V x €+ —v xj) (1.35¢)
(v?+ﬁﬁ:rwdeg+vaXA@ (1.36a)

V-B=0 (L.36b)
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00000000 (13),(14)0000000000. 0000000 (L15)~(L17)
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[ 1o ik
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Qum (1, Ze] / Y Wihid rdo (I.46a)

, . 1k\/ltoe i
Qllis ) = = +“1 O [ s Wi x o)
— 2i5(r - Vapy))d’rdo (1.46b)
! * *
Min(i, f) = =777 Zu] YV - (G5 L) dPrdo (L46c)
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4 eh
- ZwQ—Mj rl Y V- (o) dirdo (1.46d)
j=1
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(D 1T ~ (kR) <<1DD)

gobbbog,ggoobbooggoobodad.

000 R~ 1fm (1.47)
00000 M ~2x10%kg (1.48)

00000 M, =1.67300 x 10~27kg
000000 M, = 1.67500 x 10~2"kg

000p~1 (1.49)

000000 p, = 2.7900
ggooodd w, =—1.9101

/0000000 hw ~ 1MeV (1.50)
Ar27 (1.51)
c~ 3 x10%m/s (1.52)
h~1x10"*m?*kg/s (1.53)
ER~1x 1072 (1.54)
Mc* ~ 1GeV (1.55)
ch ~ 200MeV - m (1.56)
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U 2000000040

oooooooobD. 0ooogbooboobooboobobobg Clebshe-Gordan
gogoob.ogooooooo noooobbbbobodoooooooog
guo.

[Tama) = Y |li,ma, Jp,mp)(li,ma, Jp,mp|Ja, ma) (1.64)

mpmi
O0D0000000000D00O Clebsch-Gordan OO O OO, 00000000
goddotooooddouoooooo 20000000, om oo £1
O0000000000000,000000mp0000 p(me)000000

p(mB) = |<11, 1, JB,mB|JA,mA — 1>|2 + |<ll, —1, JB,mB|JA,mA + 1>|2 (165)

gogooboboogd.

Ul woboodbbuogobob.bogobbuoobooboa,bbuobobod
O000000D000 Clebsch-Gordan OO O 200000000000000O00O
000000 (L31)00000000,0000000000000D00000OO0O
gogbboooobobuooobbobouooobboooobobooooooboodg,
goon

W(0) = Z |(la, ma, Jo, me|Jg, mp) |*p(mB) Ziy.m, (cos 6) (1.66)

mgcm2
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Je=0 me 0

U 3420000000

0000000000000 OOODO0 Clebsch-Gordan 0 OO

mp=2:  (2,2,2,1]4,3) = \/g

(2,2.2,-114.2) = /%
mp=1: (21,2142 =/t
=%
mp=0:  (2,0,2,1[4,1) \/é
(2,0,2,—1]4,-1) =
mp=—1: (2,-1,2,14,0) = \/g
(2.-1,2,-114,-2) = |/
mp=-—2: (2,-2,21|4,—-1) = \/E

(2,-2,2,-114,-3) =/

—_

(2,1,2,—1/4,0

=

21



gobboboa.ouooobbboooobbbodo

4
1) = = -
p(1) ( ) 3
32 32 6
p“”i(\@ *(\@) =7
42 8 ? 4
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000, 0000o000ooooooo.
4 4 6 4 4
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10b0b0o0ogon

W(0) =10 x Zys(cosl) + 14 x Zy1(cos ) 4+ 15 x Zy o(cos §)
+ 14 X Zy _1(cos @) 4+ 10 x Zs _o(cosb)

1
o<1—|—§00529—|—ﬂcos48

gogobbb.ogobbbbbodgooooobbbbo,obbbbbodgdd
gogbobooooboo,bbbooooboobobooooboog.
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